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PARALLEL AND PERPENDICULAR LINES Use the markings in the diagram.
7. Name a pair of parallel lines.
8. Name a pair of perpendicular lines.
9. Is PN | KM? Explain.

10. 1s PR 1 NB? Explain.

ANGLE RELATIONSHIPS Identify
N2
@Cnrrcspnnding 12. Alternate interior N

pairs of angles of the given type.

13. Alternate exterior 14. Consecutive interior 5\6
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USING A DIAGRAM Classify the angle pair as corresponding, alternate
interior, alternate exterior, or consecutive interior angles.

18. Z5and 21 19. Z11and £13
20. Z6and £13 21. Z10and 215
22. Z2and 211 23. Z8and Z4
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3.2 EXERCISES

SKILL PRACTICE

HOMEWORK! (1) = WORKED-OUT SOLUTION

onp.WsT forExs.5,9,and

* = STANDARDIZED TEST PR
Exs.2,3,21,33,39,and 40

1. VOCABULARY Draw a pair of parallel lines and a transversal. Label a pair

of corresponding angles.

2. % WRITING Two parallel lines are cut by a transversal. Which pairs
of angles are congruent? Which pairs of angles are supplementary?

o p. 154755
for bxs. 3-16 ® 22 ® 43
© 24 ® 5

USING PARALLEL LINES Find the angle measure.

Tell which postulate or theorem you use.
4. 10msa =

5%, thenmZ1=_2 .
Gitme = 10, then mz2
6. Ifmss

1°, then m£4

7. 1fm£3 = 117°, then m£5

8. 10ms8 =54 thenmzl= 2 .

3. % MULTIPLE CHOICE In the figure at the right,
which angle has the same measure as 212

\2
3\
a\s
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USING POSTULATES AND THEOREMS What postulate or theorem justifies the
statement about the diagram?

@41 =25 10. 24
5,

5

1. 2= 27 12. Z2and £5 are supplementary. T
13. £3= 26 4. 3= 27 Pl
15, Z1= 28 16. 24 and £7 are supplementary.

USING PARALLEL LINES Find mZ 1 and m 2 2. Explain your reasoning.

17. 18. 19.
150"

20. ERROR ANALYSIS A student concludes that
£9 = £10 by the Corresponding Angles Z9=210
Postulate. Describe and correct the error in

this reasoning. 10] ><
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21. % SHORT RESPONSE Given p | g, describe two
methods you can use to show that £1 = £4.

USING PARALLEL LINES Find m/ 1, m/ 2, and m /3. Explain your reasoning.

22, 23. 24,
— 7
0 B
(=3
— 3
7o 2/3
v

ANGLES Use the diagram at the right.

25. Name two pairs of congruent angles if AB and DC are parallel.
26. Name two pairs of supplementary angles if AD and BC
o (3

are parallel.

@) ALGEBRA Find the values of xand y.
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30. 3 32,
‘ (ay+ 20 (1ax-10

33. % MULTIPLE CHOICE What s the value of y in the diagram?
@& 70 ® 75
© 110 @ 15





